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ret, err := json.Marshal(vRet)
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return c.String(500, "Failed to encode JSON: "+err.Error())

}
return c.JSONBIlob(http.StatusOK, ret)

]

1. json.Marshal(vRet) [] ZbaksanSorderEyetestRes [TTT]1JSON [TT1T1[TITH

2. [1171)SC c.JSONBIlob(http.StatusOK, ret) [] [T (TTITT] (ITT
3. [ response.json() [ response.data []JSON[][T][ [Tk

4

1N
m (I1(String)
EjiE MO0 MO
m c.String(607, ")
(111 M response.text()

5. []

[ c.String(607, "")

e HTTP [] 607 [ 11 IO [ [T
e [ response.status [TT] ][ M T 17

[ c.JSONBIlob(http.StatusOK, ret)

e JSON T OO
e json.Marshal() [J[T]JSON response.json() [T] [T

Revision #4
Created 7 February 2025 03:02:27 by 1]

c.String() VS c.JSONBlob() []

c.String()

c.JSONBIlob()

JSON (I

JSON M

c.JSONBIlob(http.StatusOK, ret)

response.json() [ response.data



Updated 7 February 2025 05:55:17 by [T]



